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09. Features of a deficiency discase are shown below.
¢ Recurrent cramps.
e Nausea and diarrhoea.
e Respiratory disorders.
Giving which of the following element can this condition be cured?

(1) Fe (2) Na 3) 1 (4) Ca

10. Four choices which show two masses obtained from carbon and calcium respectively are shown
below. Which choice has equal amount of moles?  (C = 12, Ca = 40)

(1) 12g,80g (2 3g10g

(3)6g, 40g 4)1g4g )
11. Which of the following optical instrument gives only virtual, upright small images of a real object?

(1) Plane mirror (2) Concave mirror

(3) Convex mirror (4) Convex lens.

12. In the process o food digestion,the digestion o starch starts in the,

(1) mouth (2) Stomach

(3) Oesophogus (4) Duodenum N
13. What is the mass of NaOH present in 200 cm® of NaOH solution with the concentration of '

20moldm™3?(Na=23,0=16,H=1)

(1) 8g (2) 16 g (3) 20g (4)40g
14. Select the correct statement regarding human blood circulatory system?

(1) Blood flows from ventricles to atria in the atrial systole.

(2) Blood flows from atria to ventricles in the ventricular systole.

(3) Blood flows to atria in the intervening.
(4) Blood removes from ventricles in the intervening.

15. The location of a transverse wave that travels along a water surface in a certain instance is shown
below. The wave length and the amplitude o this wave respectively are, ,

3
(1) 20 m,4 m /\ @
(2) 20m,8 m :
(3) 4m,20 m \/ \/

(4) 8m,20 m >
40m

v

16. Which of the following plant tissue has cells different to each other together?

(1) Sclerenchyma (2) Parenchyma
(3) Collenchyma (4) Phloem

17. Four solutions with equal concentration are shown below. Out of them, which has the least pH
value?

(1) HCI (2) CH3COOH (3) NaOH (4) NH;

18. Which of the following statements are true?
(1) Sodium chloride conducts electricity in solid state.
(2) Fused sodium chloride conduct electricity.
(3) Distilled water conducts electricity.
(4) Acidulated water does not conduct electricity.

b




19.

20.

21.

22,

23.

24.

25,

26.

| ]
-]

Question n0.19 , 20 and 2] are based on the following diagram. It shows a common part to both
respiratory and di gestive systems.

What structure closes the opening of the trachea when food is swallowed?
(1A 2) E

®C 4) F

Which of the following changes does not take place when inhaled ajr
travels through A?

(1) Heating air to the body temperature (2) Removal of dust present
in air
(3) Adding water vapour to air (4) Adding antibodies to air

Which letter shows the part where peristaltic movements oceur?

) C 2)D & F 4 E
Reaction of which of the following pair of substances will not emit a gas?

(1) Zn, dil HCl (2) Al, dil Hcl

(3) Mg, dil HCl (4) Cu, dil HCl

The resistance of a conductor with 12V constant potential difference at the two ends is 10 Q
The current flowing through the conductor is,

(1) 0.12 A 2)1.2A (3)12A (4) 120 A
Which of the following statements is incorrect regarding catalysts?
(1) Participates in the reaction. (2) Increases the speed of rate of reaction,

(3) Has the initial mass even after the reaction. (4) Very useful in certain chemical industries,

Which of the following‘ answer is correct when the kinetic energy of the object is compared with
the previous kinetic energy in an instance of velocity of the object doubles?

(1) kinetic energy is equal to the previous one,

(2) kinetic energy becomes half of the previous one.

(3) kinetic energy gets doubled as the previous,

(4) kinetic energy increases four times as the previous.

Four instances of presence of even magnetic field perpendicular to the paper is shown below. The
conductor AB is placed perpendicular to the magnetic field. In which of the following instance does
a vertical upward force act on the conductor perpendicular to theBpaper when an electric current is

allowed to trave] ough it to the direction of AB? B
Y= — N B P, :@____E‘__,@ O, w e @ Qe
® ® ® OBO : ®||® ®ll®
® ®||®
A
. Which of the following molecule contains two double bonds?

- Aerial parts of the Colocasia plant die and grow again after a certain time period. What do you call

this process that Colocasia plants do to prove their survival?

Migration, (2) Perennation,
3} Conservation, (4) Storage .
The heat loss from a hot cup of tea takes place,
only from convection, (2) only from radiation,
only from conduction, (4) from all of the above methods.



30. Which of the following diagram, is incorrect regarding a light ray that travels relative to air glass
interface?

(1) (2) (3) (4)
glass glass glass™y | ¥ glass 3| __p—
air it air air ’

31. Which of the following is an alkene,

(1) CHy (2) C;H, (3) C,H, (4) C3Hg
32. In which o the following cells the metabolic activities are controlled by another cell?

(1) Parenchyma cells (2) Sieve tube elements

(3) Sclerenchyma cells (4) Companion cells

33. Given below is a chemical equation.
xNa+y0; ——— zNa,0
Which answer gives the correct order of the values of X,y and z to balance the reaction.

(1124 2 21,4 (3 14,2 (4) 4,1,2
34. A,B and C are three statements presented regarding an ecosystem.
A- Flow of energy is irreversible C- living-non living interactions occur .

B- Flow of nutrients is reversible

Correct statements from the above are,

(1) A only (2) A and C only
(3) A and B only (4) All A,B and C.

35. In a transformer, the ratio of primary coil and secondary coil is 2300:120. Assume that energy
loss is not taken place. Which of the following is the alternative voltage that can be obtained from
the secondary coil when a 230V altemative voltage is supplied to the primary coil?

(n12v (@ 120V (3) 230V (4) 2300V

36. Four electric circuits are shown below. Which of the following circuit drags a maximum electric

current when the switch is closed?
6)) | I ) | | (3) ﬁj—_‘ (4) ‘ \
— —

—
37. Only non-renewable source of energy expends when which of the following method is used to
obtain electricity .
(1) By solar cells (3) By electric generators
(2) By the national grid (4) By the biogas unit
38. Due to irregular disposal of which of the following contributes in a maximum way to pollute soil
and water
(1) Clay pots. (3) Plastic vessels.
(2) Polythene Wrappers (4) Micro plastic

39. Blackening of surfaces of buildings and plant leaves is a result of air pollution in urban areas. The
pollutant which caused for this is

(1) Unburnt carbon particles (2) Hydrofluorocarbon
(3) Unburnt hydrocarbon particles (4) Methan

40. An application of the 4R concept of waste management is,
(1) Getting used to local products.
(2) Using discarded plastic bottles for landscaping.
(3) Using CFL bulbs for the lamps.
(4) Maintaining a specified place to collect domestic waste.

-4 - 230157 - B¢zad (g) (1 ome) - By 04
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¢ Write you answer in neat hand writing.

* Answer the four questions in part A in the space provided.

¢ Of the five question in part B, answer three questions only.

¢ After answering tic part A and the answer script of part B together and hand over.

Part A
01. (A) Three materials P,Q,R and three processes S,T,U that affect the environment are shown

below.

P — Artificial detergents. S — Internal combustion engine.

Q — Electronic waste. T — Combustion of coal.

R — Domestic waste. U — Usage of organic fertilizer.
(1) Excessive use of which out of P,Q and R make detergent swans on the surface of water

SYSLEITIST ...ooovosesiesssusssmssssarsssssasosssessessssassesssesssssssssssssss ssresss s 4480648588085 468548486 nt e esms st o Seess snsnsons

(a) Mention one source for each which release the materials given below that come under
Q to the environment. -

T L L

o CAdmiiving .. Do

(b) What do you call the process of Arsenic, Cadmium like heavy metals getting
concentrated along the food chains from one trophic level to the other trophic level.

(b) Using chemical fertilizers is one of the main reasons for the eutrophication in
IEServoirs.
. Write down one characteristic of a reservoir that is subjected to eutrophication.

Il. Write down two components in chemical fertilizers which caused for
eutrophication.

(i1i) State a way of increasing the quality of soil using organic fertilizers.
(B) The graph below shows how two physical and chemical properties of a pond in an open area
get changed on a hot sunny day from 8.00 am. to 6.00 p.m.

A

B

N
'_"/,,r/‘.\“‘

“Time (h)

Properties of water

009
00°8 1
0001
00°CI +
oovl
009l
0081



o Name
(i) Name the graph relevant for the following change of properties out of A and B. LU
(a) Temperature - O RO o, ) - 200U
(b) Asnoynt of 28 AISOIEH. : ccommmmummsammumonmmpsmaisisms s "5 ‘ m{oﬁ“a“ et

(ii) Explain the relationship between the variation of temperature and the variation of the A-
amount of gas dissolved in pond water. B- Bel
............................................................................................................................................................................. ) c- Re
(iii)  Mention the method how heat travels from the sun to the water in the pond. A

. D-

02. (A) Select an animal from the cage as an example for each of the following statements and fill in B
the blanks. " ool

Hydra, prawn, snail, seer fish (thoora), whale, cuttlefish/squid, pigeon

(i) Diploblastic animal
(i) Animal belong to group Mammalia =~ .o
(i) Livesonlymseawater =~ = -  sGacsasdesasiasaidiiniiemiim
(iv) Homoeothermic animal = = s
(v) Animal with an external skeleton P R

(B) A metallic plate was held above while heating several plant leaves in a crucible. It was

observed that several liquid droplets deposit on it.

(i) Name a chemical that can be used to prove liquid droplets observed are water.

(i1) When the crucible is heated further a black colour substance is left in the crucible. What

is it?

(iii) Mentlon the three elements present in plant leaves considering only the information

described in part (i) and (ii) above.

(C) The diagrams (i) and (ii) below show the two methods of cell division.

(1)

@ Mother cell

@ G

Daughter cells—> @

diagram (1) dmgram (2)
Mention the two cell division methods shown by the diagram (1) and (2).

(1 | BRSO EL R e
1 TS S ———

(ii)) Name a cell produced in a male body which is similar to a daughter cell produced in the

diagram (2)

(iii) Whlch process is important for the process of evolution out of the two cell divisions (1)

and (2). Mention briefly the reason for the answer.




__________ (1v) Name zn instance that cell division method no (1) takes place in the human body.
= 1.35 ............................. .
@lion . e,
‘nof th . Information about five clements that represent the first 20 elements are shown below,
... A- Element with highest electro negativity among the elements in the period three.
g e,

B- Belongs to the third period. The first ionization energy is maximum,

. C- Reacts speedily with water. Electronic configuration is 2.8.1.
ent
N D- An amphoteric element.

E- An element with the valence 4 and has allotropic forms.

(i) Enter the above elements in the following periodic table.

______ JI I viii
' i i v v vi i
[ ]
| l
15 _ 1]
) f." (i) (a) Mention the formula of the compound made by reacting E and A and name the bond
Vba;' " type present in it.
f RO, g e st S e i

(iii) Draw the Lewis structure that shows the nature of the bond of the
reacting E and A,

") Name the allotropic forms of the element given as E which cond

ucts electricity and which
is the hardest form,

Conducts electricity

Hardest form ...




04. (A) The instrument set-up of an activity is shown below.

Inclined gutter
Iron ball

e T " R A A A T P P i AL A A SIS AL,
(i) Iron ball is released by keeping it in the places P, Q, and R in the gutter.
(¢) What initial position out of P, Q and R is responsible for the instances of maximum
velocity and the least velocity when it passes point A?

The highest ..o TDEHIGHEEL oo ccsssisresssssmsessssssssarmmsssisine

(d) What initial position out of P,Q and R is responsible for the instances of maximum
momentum and the least momentum when it passes point A?

The highest :....coccrcerimimmrmersmmsnens € 1AL ot

(i) What factor that affects the momentum is tested by this activity?

(iti) Draw a rough sketch of the graph showing the change
of velocity of the ball with the time for the motion ofthe

ball when it comes from P to A.

(a) What physical quantity is represented by the
gradient of the graph?

v

(b) It the mass of the ball is 0.4 kg and the gradient of
the graph is 5 m s ™2 , calculate the unbalanced force act on the ball when it comes

form Pto A

(c) Explain how the distance from P to A be found out using the graph.

(B) An object with the mass 2 kg falls toward the earth freely. It touches the earth after 3 seconds
of starting its motion. Acceleration due to gravity is 10 m g%

(i) What is the velocity of the object at the instance it touches the earth.

(ii) What is the kinetic energy of the object at the instance it touches the earth?

(iii) If any loss of energy is not taken place what is the gravitational potential energy

possessed by the object at the instance it started its motion?

=~ = 230157 - Ecza® (@) (Il moo) -




Part B
e Answer only 3 question out of question no. 5,6,7,8 and 9.

05. (A) Excretionis a living process. The diagram of the urinary system arranged for excretion is shown
below.
(i) Name the part A and B in the diagram,
.(ii)  Which blood vessel out of X and Y carries the blood

with higher oxygen concentration?

(iif) Give reasons for your answer in part (ii)

(iv) Name a factor that causes kidney failure.

(v) Mention the type of muscles present in D.

(vi) Name three excretory substances present in urine.

(vii) Mention one habit that should be followed to maintain a
healthy urinary system.

(B) In the sexual reproduction of flowering plants, two specific
‘. phenomena are there as pollination and fertilization.

(i) (a) Mention the two types of pollination taken place in
flowering plants.
(b) Out of the above mentioried two types what type helps to create new plant

. varieties? Explain it.

(i) Mention two adaptations that can be seen in zoophilous flowers related to do the
pollination by animals, Give examples for each.

(i) Mention two changes taken place in the ovary off the flower after the process of
fertilization.

06. (A) The diagrams (1) and (2) below show two energy level diagrams drawn based on the heat
energy changes taken place in a chemical reaction.

CHETZY A Dl’OdllC energxk
4 reactants
€— W\ energy
reactants | ik NW—> energy
. y
diagram (1) diagram (2)

(i)  Which diagram represents an exothermic reaction?
(ii) A chemical reaction is shown below.
2 KMnOy(s) + heat —— K,MnO0,(s) + MnO,(s) + 0,(g)
(a) Represent this in an energy level diagram.
(b) Calculate the needed mass of KMnO, to produce one mole of O,.
(K =39, Mn = 55, 0 =16)
(c) Describe the test done to identify 0, emitted in the reaction.

(B) A clean iron nail was put into a very dilute acidulated solution of KMnO, .
(i)  What is the colour of diluted KMnO, solution prepared?
(i) Mention the observation that can be forwarded related to the colour of the solution
when it is observed after a sufficient time.
(iii) When the temperature increases the rate of reaction between KMnO, and Fe
increases. Explain an activity briefly that can prove this.
(iv) Mention two other factors that the rate of reaction depends on other than temperature.

-




